Plane stress transformation problems

9-2. Determine the stress components acting on the
inclined plane AB. Solve the problem using the method of
equilibrium described in Sec. 9.1.

65 MPa

Prob. 9-2

Solution:

Zeo YA -
2pb
‘ 300(' >< Q ?\\‘ﬁbb
B .1[)" 4
l 20mp, R_ >< 4
309

Wy A XSInIs’

2
Q;/&'(} 4 NA

+7 2L =6
73 Fjj o~ A/h/ L1020 &f{%i\nlo" QJ-53DD—\—£EMCO:%XOD e 2’ — MCU-SZT)A S]L%?bof:d

qna Page 1



= S:j =-2Y1 MPa

S G”% — %}“{gmo" 30 4§ BEA C03T6” b T — 7»?’4%2%" 1 28°

-/\
‘\>’ e ?
i —O Y \ a ] D 1‘ o 17
;X/ Tw/y%_L 205/45”1?3 Sinde’ _ GS%QMX@ i)%l/b”flozyngm 17,597

V/j’: 29 b mpa,

—0

This problem was solved by Civil Thinking (https://civilthinking.com)

If you need solutions of Strength of Materials / Mechanics of Materials
Questions or any other Civil Engineering subjects, contact us at:
solutions@civilthinking.com

Or submit your problem directly here:

& https://civilthinking.com/getproblemsolutions

Other Subjects We Cover:

Structural Analysis

Fluid Mechanics

Geotechnical Engineering

Transportation Engineering
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NOTE:

The solution provided in this document
is the intellectual property of Civil
Thinking (https://civilthinking.com)
and is protected by copyright. Any
reproduction, distribution, or
publication of this content, in whole or
in part, is strictly prohibited without
prior written permission from
https://civilthinking.com.




Construction Management

Finite Element Analysis (FEA)

Engineering Software (ANSYS, ETABS, MATLAB, Revit)
Let us help you solve your engineering challenges! &
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